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Answer the following questions 1x8=8
(a) Deﬁne. degenerate ba.sic feasible

solution.
(b) Write about decision yariable
() Define slack variable
rm of prunal in

(d) Write the standard
duality.
( Turnt Over )
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Answer any two from the follow;
ng :

Answer the follow;
Stlons

(2)

Define symmetric primal dual problem.

State th.e m  condition of
transportation problem.

Define saddle point in g game theory

What is fair game ip 5 game theory?

2x2=4
Write the mathe

Man
transportatiOn p atical formulation of

roblem .

Describe gener,

property of game tl:::ie of dominance
ry.

W 4)(5-_—.-20
rite the rule
from prima] Onstruction of dual
Write the ch

ATactar: .-
form of genera] tl‘?l‘mhc of standard
problem. €ar programming
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(3)

Find the dual :
Max Z =4JC1 —3)C2 +2.7C3

subject to
X, - Txg +3%3 <6
—5x, +3%3 2 8
2xl—4X2 +SJC3=7 4
tricted in S1g1

is unres
X, X3 20, *¥3 18 1

an

element of 2 T

matrix  [¢j)

t m
assignment plan tha; o
total cost for new o
minimizes the total cos

trix. .
cost ma pand g

(B2) e

f
. yalues ©
Find the range ogi e entry

.« will render ;
which the game

player B

saddle point for




If x*

subject

corresponding gy,

subject
and cx*
optimal

and dual respec

(b) SOIVG the pay_off m

(4)

Or

. and w*ihel any two feasible
solutions of the

prima]., Max ZJC = Cx’
to Ax s b: xz20 and

al: Min ZLU = b’w,

to :’1 wa2c!, w20 respectively
=bw* then x* and w* are
feasible

S.Olutions of the primal
tively, Prove it

player A by using dorrunance property g
Player B
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Player-Ai ecls 9 1o
: 2 .9 11 10 9
o 10 6 4 |

S. Answer any one of thgq following 0

(@ Find the optim

i assi
?OlllTes.pondmg asSignm_egilment of the
Ollowing cost Matry . nt cost from the

—_—
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(b) Find the optimal assignment profit from

the following profit matrix :
D, D, D; Dy Ds
o |2 + It :
oy | T # 0 4
o, |2 9 S !
o,| 8 € 12 3
0 |2 .8 u5ua

) w-lng .
S. Answar af yg fwo of the follo

(a)

(b)
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Solve by Big-
Max Z =

subject to
3x +

M methOd .

~2xi=x2

4x, +3%2 26
<
X +2JC2 =

X1s

Solve :
Min Z=X

subject to
3x1 - Xg
-2Xx;

JCQ?‘O

__3x2 +2X3

+2X3 =7

<
+4x2 =

8x2=16



(6)
(7))

(c) Solve b
Yy two-
Phase method :
8
. AnsWeI_ an
y one of the following

Min ZiSHS,
: 2 1 _3x2
SUb_]CCt to (a
B30, ) Obtain the optimal strategies of each
xl Xy -x3 23 player from the pay-off matrix
e o 52 Player B
%! 5 ayer
7. Answer an 2 X320 POV i
8 5 Y one of the folgy; R Y
@ . .
ermine the iniy ng‘ 9 r | 3 L4
solution to th Initial hggj Player A
problemmiby i A 5 5 Bl o | 4R
find the ast cost sportation | v 120_’4__,,'1,.8——
optima] method
solution - and then
T% (b) Player A can chooseé his strategies from
01 Shdar T Dy | a A, A, and As only while player B cat
2| 4 7 2 | 19 choose from By, B2 only. The rule of
O3 3 a4 2 1 | 37 game states that the payrnent ShOUld‘be
b; M 34 ‘ made in accordance with the selection
where O, ap D8 T of strategies :
and ; : e
- d jth destingj; denote the ith origi Strategy Mpayriel é
(b) Find the ini; O respective] origl pair selected ”ﬂfﬂe”"‘
using VAI\/Iltlall basic feasi i A By _"_éjf,/w”
solution : and g sible solution ————-—-—"""‘"_A 5 Bto A 76
Ind  the : | A4 D2
" optimal A, B /J?EO/A-/??/
g B e ¢4
5[ 7 oD T
8 9 D i Az BQ e z 7
5 |is : e A y
11 3 |18 | Ashi 76
53 )3 5 Ato B
8 10 | 20 | As By
P2 b.f N ; .. and optin’lal
3/819 16 15 | 18 Find the pay-off M@
13 strategies of each playe™
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